29. Principal Parts

Lesson in a Nutshell

The principal parts of a verb are the six forms from which all others can be
made. They are always listed in this order:

1. Present

2. Future

3. Aorist Active

4. Perfect Active

5. Perfect Middle/Passive
6. Aorist Passive

Remember: All we are doing here is observing the crafty ways that
Greek verbs give us their tense, voice, mood, person and number.

We have seen how a regular verb like AUw behaves and how certain combinations of
vowels contract (lessons 21-24).

We have also learned about oddballs like

v Liquid futures and aorists, which drop the sigma after A, W, Vv,orp
(lesson 25).

v Second aorists, which change their stem to show us they are aorists
(lesson 26).

v Deponents, which are middle/passive in form but active in meaning
(lesson 27).

g‘r.\ »
enough already!

Every verb seems to have a mind of its own!

How will we keep this all sorted out?
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How did you learn the strange quirks of English? By repetition!

Thankfully, in Greek it is not as hard as English. Once we begin reading Greek in
earnest, we will learn to see these patterns easily. Context and other clues will help us.
Remember, right now we are just laying a foundation.

There is a slick way that each verb can be catalogued that shows us how it behaves in
every form.
By learning six forms of any given verb
(called “principal parts”)
we will know it inside out.

We already know the principal parts of the verb AUw and have studied the way this
marvelously regular verb behaves.

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass . Tense Stems
“l was M: “| was loosing for self” “lloose”  M: “l am loosed for seit” Active . Present
loosing”  P: “| was being loosed” P: “ am loosed” ‘1 ha:/e loosed" . iﬂi‘a’s'?mm
EAvov Aoy Ao Adopar AeAvra . Perfect Active
EAvec EAdov Averg Adn Aedvxag . Perfect Middle/Passive
EAvev EAvETO Aver Aveton Aedvxev . Aorist Passive

EAvopev EAvopeda Avdopev Avopebo AeAvrapev
eAdete EAdeche Avete Adeobe AeAvxare
Elvov eAdovio Avovarv Avdovran s : AeAvKaoLY

Indicative Mood

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings primary endings
Active Middle
“I will loose”  “I will loose g o n
wi will I for self M: “l have Ao
Ao Avoopot loosed p
AMoet Aon for self” A‘?"‘”’“‘
DOELS , Aedvron
AMvoer AMoeton

primary m/p endings

Mid/Pass

AMoopev Avoopedo
AMoete Moecle
Adoovaory Adoovron

Aorist
augment, 0L,
secondary endings

Active Middle

“l loosed”  “l loosed for seit”
Elvoo EAvoauny
Elvoog EADOO
Evoev eAdoato
eAdoopey  Edvoapebo
eAdoote eAdoocBe
Elvoav eAdoavto

P: “I have been
loosed”

Aor Pass
augment,
secondary act end

Passive

“l was loosed”
Evenv
EADOTC
EAVBN
eAvOnpuev
EAVBNTE
EAVONOaY

AeAOpebor
AEAvoBe
AEAVVTOL

Future Pass
6
primary m/p endings
Passive
“I will be loosed"

AvBnoopon
Avbnon
Avonoetat
AvBnoopedo
Avonoecte
Avonoovion

The root of the verb AUw is Av. Six tense stems branch off from this root.
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Observe the vertical words, numbered 1-6. These are the tense stems. They will always
be listed in this order.

1. Present

2. Future

3. Aorist Active

4. Perfect Active

5. Perfect Middle/Passive
6. Aorist Passive

AU

# Tense Stem Form “Recipe”
’ Present tense stem (lexical form)
1 |Present AOw primary endings
2 |Future AVow _ O before
primary endings
3 |Aorist Active E\voa augment, 60,
secondary endings
4 |Perfect Active MéAvka reduplication,

primary active endings

, reduplication, no K,
5 |Perfect Middle/Passive )\E}\U}J.Oﬂ no connecting vowel
primary middle/ passive endings

augment, On
secondary active endings

6 |Aorist Passive é)\éenv

AOw is our friend because it behaves in a perfectly regular way.

Other verbs do not play so nice — or to be more fair to them,
they follow different rules.
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Here are the six principal parts of the verb amootéAAw. Let’s take a moment to discuss
what is happening in each tense stem.

)
ATIOOTEA
# | Tense Stem Form “Recipe”
2 i Present tense stem (lexical form)
1 |Present O(T[OGTE)\)\(L) primary endings
, » liquid future
2 |Future ATTOOTEAD drop the o after A, u v, p

primary endings

liquid aorist

i i A 1ré augment
3 |Aorist Active améoTeI drop the o after A, pv, p, leaving just o,
secondary endings
4 |Perfect Active ATTECTANKO reduplication, ¥

primary active endings

, ;o reduplication, no k.,
5 Perfect Middle/ O(T[SG'CO()\},[OH no connecting vowel

Passive . . ;o .
primary middle/ passive endings

, Second Aorist Passive
6 |Aorist Passive O(T[EGIO()\Y]V augment, N
secondary active endings

1. The present tense stem adds a A to the stem. It is normal for the present stem to
do odd things. It is actually the least regular.

2. The future tense lacks a o because of the A. It is a liquid future.

3. The aorist tense lacks a o because of the A. It is a liquid aorist. But where is the

augment? It comes between the preposition arto and the verb oteAAw (explained
in lesson 27).

4. Why the €7 This is the reduplication. Reduplications are added between the
preposition and the noun just as augments were. You may have wondered how to
reduplicate a verb that starts with a vowel. It would be odd to duplicate the first
vowel and separate it with an €. (amosootaAKa). Instead, verbs that begin with

vowels do something called a vocalic reduplication. These behave very much like
augments.

5. Why the £7? This is the reduplication. (See #4.)
6. This is a second aorist passive. All this means is that there is no 0. Instead, there

is only an 1.
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Here is a picture of arrootéAAw and its six stems.

( Imperfect )

augment, present tense stem
secondary endings

S /Aciile
OTECTEAALOV
T was sending

R
QMEGTEANOLNY

m:  was sending (for self)

<

1|
N~

p: I was being sent

( Present )

lexical form
primary endings
Active
3 ’
1 OTOCTEAAW
I send
Middle/Passive

OMOGTEAAOLLOL

m: 1 send (for self)

p: I am sent

(" Liquid Future )

7\.,],1.,\' orP,noC,

look like € contract verbs

S Active
QOO TEALD
I will send
Middl

OMOGTELODLLOLL

L will send (for self)

-

a

-

Liquid Aorist
ugment, x, KV,p, noGC,
secondary endings
Active

Ot OTELA

I sent

Middle

OUTLEGTELAOUTV

I sent (for self) J

1
2
3
4
5
6

Tense Stems

. Present

. Future

. Aorist Active

. Perfect Active

. Perfect Middle/Passive
. Aorist Passive
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( Perfect )
Active

reduplication, K
primary active endings

(Active)

OTECTOAKOL
I have sent

—

(" Perfect )
Middle / Passive

reduplication, (no )
primary m/p endings

no connecting vowel
(Middle/Passive)

QTECTOALLOLL
I have sent (for myself)

I have been sent

4 N

2nd
Aorist Passive

augment, T

secondary
active endings

P
QLT GTOATV

T was sent

iV

N7

N /

( 2nd \

Future Passive
primary m/p endings
>
(Passive)

QTOGTOA |~ OO

Lwill be sent

—



Here are the six principal parts of the second aorist verb PaAAw. (PaAAw is also a liquid

future.)
PaA

# | Tense Stem Form “Recipe”
/ Present tense stem (lexical form)
1 (Present [30(7\)\(,0 primary endings
» liquid future
2 |Future [30()\00 drop the o after A, pv, p
primary endings
second aorist
3 |Aorist Active EPaiov augment
stem change, secondary endings
4 |Perfect Active Béﬁ)\l’]KO{ . reduphc.atlon’ K
primary active endings
. , reduplication, no K,
5 Eeelgsei\clteMlddle/ BEB)\]’] Mat no connecting vowel
primary middle/ passive endings
6 |Aorist Passive EPANONV augment, n

secondary active endings

1. The present tense stem adds a A to the stem. It is normal for the present form to
do odd things to the stem. It is actually the least regular stem!

2. The future tense lacks a o because of the A. It is a liquid future.
3. Second aorist. In this case, the stem change is very small (drops a \).

4. Strange in that the o disappears and an 1) is inserted before the endings. An

oddball! But if you remember that the consonants carry the meaning and don’t get
freaked out about vowels dancing around a bit, you can recognize all the clues
and see what is going on. Remember the shapes.

5. (same explanation as #4)

6. (same explanation as #5)
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Here is a picture of BdAAw and its six stems.

( Imperfect )

augment, present tense stem
secondary endings

., Active
cBoAAov

I Pms throwing <
Middle/Passive
cBaAAdounv

m: I was throwing (for self)

-1
N

\  p: I was being thrown = )

( Present )

lexical form
primary endings
Active
’
1 BoAAw
I throw
Middle/Passive

BoAAoLLOL
m: I throw (for self)

p: 1 am thrown

[

-

look like € contract verbs

Liquid Future )
AL,V orp, no O,

Aclileﬁ
BoAw

I will throw
Middle

BaloD Lo
Twill throw (for self) )

-

("~ Second Aorist )

augment, stem change
secondary endings
Active
v
cBarov
I threw
Middle

“Bokounv

I threw (for self)

1

2.
3
4
5
6.

Tense Stems

. Present

Future

. Aorist Active

. Perfect Active

. Perfect Middle/Passive
. Aorist Passive
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( Perfect )

Active

reduplication, K
primary active endings
(Active)

’
BeBAnicol

I have thrown

—

4 Perfect )
Middle / Passive

reduplication, (no K)
primary m/p endings
no connecting vowel

(Middle/Passive)

eBANuLON
I havg thgowrrl }f‘z';r myself)
\ I have been thrown

~  Aorist

Passive

augment, 91’]
secondary
active endings

BANONV

T was thrown

~

T

2nd Aorist
Verb

BaAL®

( Future \

Passive
primary m/p endings

(Passive)

BAN 1 copon
Twill be thrown

J

—



In the Vocabulary Whacker, | have included every verb with its principal parts. Here is
an excerpt. Spend some time looking up and down the columns until you can spot the
patterns. Don’t worry yet about the i verbs.

Present Future Aorist Perf Act Perf M/P Aor Pass
b4 7/
ayama IO(IYO(T[O((JO ayannow yannox NyannKa nyamnuar | ayannénv
ove
ay XYW &Ew fyayov - Alyma #xonv
Ilead
ap | KIPW &pd fipa fipka fippat Aponv
I take up, take away
7 7/
are | ALTEW aitrow ftnoa Atnka fTnuat --
I ask
b4 /
axaAouBe dxoAovOEw axoAovBriow | nkoAovBnoa | NKoAoUONKa - -
I follow
akov | AKOLW dKoUow fKovox axNKoa -- nNKoveOnv
I hear
avapa O(VO(BOHV(O avapricopat | avéPnv avaPéPnka -- --
Igoup
aviota 0‘\’107‘1}11 _ dvaoTiow dvéotnoa avéotnka | &véotnuat | aveotadnv
I rise, cause to rise
awory JAVOLYW - avéwéa - - avexOnv
I open
anogpy | ATLEPXOMAL anelevoopar| anfiAbov | dameAnAvba - -
I depart
amoBov anoeVnGKw T anéBavov -- -- -
I die 1
anoxpwy || ATTOKPTVOLLOL - ATEKPLVAUNY - -- anexkpiOnv
I answer
QMOKTEV I(XIIEHOKTEIVCD ATMOKTEV® | amékTeva -- - amekTavony
i
etc!

Go to the Vocabulary Whacker to see the principal parts of every verb used used in the
New Testament more than 50 times.
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